
Test Type : UNIT TEST # 04 Test Pattern : NEET (UG)

SUBJECT : PHYSICS

SECTION-A

1. Ans ( 1 )




2. Ans ( 2 )
                         ...(1)


                                     ...(2)

Here M = mass of man

v = speed of man

u = speed of boy

Now   ...(3)


by equation (2) & (3)


take under root.


3. Ans ( 1 )

From F =   से 





∴    U(x) =  


    as U(0) = 0  
Therefore, the correct option is (1).

4. Ans ( 4 )
Kinetic energy of ball = potential energy of
spring


i.e.,      


∴   16 × 10  × v  =  


or   


or v = 90 ms
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5. Ans ( 1 )




v = u + at





P = Fv = ma.v


 ⇒ 

6. Ans ( 1 )
At highest point 


N + mg =  


N =       


v' → same as height attain in all cases is same


r↑ ⇒  

7. Ans ( 2 )




F  toward centre =  


N – Mg =  


N = Mg +  


r    N ↓


r < r 

N > N

8. Ans ( 2 )










F  = N sinθ + f cosθ    .... (1)

Mg + f sinθ = N cosθ   ....(2)

9. Ans ( 4 )

Applying law of conservation of mechanical

energy between points A and B,




∴    


So, magnitude of change in velocity,


i.e.,  


10. Ans ( 2 )

B = B  + B 


B =  


⇒   B = 

11. Ans ( 1 )

By ampere circuital law net current enclose by loop 1,

loop 2, loop 3 is I (same) and point 1, 2, 3 are

equidistance from axis of conductor So B  = B  = B

13. Ans ( 2 )
Magnetic moment of revolving proton





As L = m vr
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14. Ans ( 2 )
Force an AB = BIℓ = 12 N (upward) 

Force on BC = 16N (left) 


so force on ABC =    

15. Ans ( 4 )

ℓ = N(2πR)      ⇒ R  


⇒ A = (πR ) = π 


∴ τ  = Ni AB = Ni  


N  = 1 


∴ τ  

17. Ans ( 1 )




B  = B + B  > B  = B – B 



B → Wire

B  = Horizontal component of earth magnetic
field.

18. Ans ( 4 )




⇒ μ  ≈ 400

19. Ans ( 2 )

Here m =   So, Rate of KE =  





Also,  

 = mv

20. Ans ( 2 )










F = ma ∝ t

21. Ans ( 1 )
WD is independent of path for conservative
forces.

22. Ans ( 3 )

Loss in potential energy = Gain in kinetic

energy

⇒  

23. Ans ( 1 )
















24. Ans ( 3 )













26. Ans ( 3 )
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27. Ans ( 1 )




F  =  


mgcosθ – N =  


⇒ N = mgcos θ –  


When motorcycle ascending on the over bridge
θ changes from 90° to 0° and cosθ from 0 to 1.

for N  ⇒ cosθ = maximum = 1

So, Normal force increases.

28. Ans ( 2 )










          = 

29. Ans ( 4 )

B = μ nI 


μ H = μ nI


H = nI = 10  × 4 = 4 ×10  A/m.

30. Ans ( 2 )

R =           .....(i)


R' =        .....(ii)


(ii) ¸ (i)


 ⇒ R' =  R

31. Ans ( 4 )

B = µ nI = µ ×   × I


   = 4π × 10  ×  


   = 10 T

32. Ans ( 1 )
Two straight conductors carry current in same
direction, then attractive force acts between
them.

33. Ans ( 3 )

Area vector 





 &  








 

34. Ans ( 2 )
Theoritical

SECTION-B

36. Ans ( 2 )
w = ΔK


     





    

    –15 = (KE)  – 500
    (KE)  = 485 J
 

37. Ans ( 3 )

 compare it with gravitational

force 


, 


then total energy is E =  


So here E = 
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= = [ − ]M ⃗  IA
−→ Ia2
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38. Ans ( 1 )

ΔK.E. =  


⇒  


⇒  


⇒ 

39. Ans ( 2 )
a  = K rt 


 = K rt 


v  = k r t 





W =   mk r t 


P =  = mk r t

40. Ans ( 3 )




kE = CS 











41. Ans ( 1 )

  (here θ = 45°, μ =

0.5)


So,  





r = R sin45° = 10 m


42. Ans ( 4 )
At highest point v = 0

v  = u  – 2gh


⇒  h = 

43. Ans ( 3 )




B  = B = B  – B 


        =  


        =  


when 2I switched off


B  = B  =   = B

44. Ans ( 3 )
B  = n × B


            


B  does not depend on diameter of solenoid

45. Ans ( 4 )




as   OR θ = 0°

46. Ans ( 3 )
   U = –MB cosθ


        U  = –MB cos90  = 0

         U  = –MB cos θ 

        ⇒     0 < θ < 90  

            –MB < U  < 0

        U  = –MB cosθ = –MB 

        U  = –MB cosθ , 90  < θ < 180 

        0 < U  < MB  

   ∴     U  < U  < U  < U

47. Ans ( 4 )

In uniform , net force on current carying

loop is always zero.
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48. Ans ( 2 )




Actual direction of motion from geographical
south is (25° + 10°) = 35° W of S.

49. Ans ( 4 )
Using the formula of voltage sensitivity,


V =  


∴  


    =  = 1

50. Ans ( 1 )

T = 2π  ⇒T ∝  


M  = M + 2M = 3M ⇒ T  ∝  


M  = 2M – M = M ⇒ T  ∝  


T  > T

SUBJECT : CHEMISTRY

SECTION-A

52. Ans ( 1 )

 = k[A]


0.08 = k[A]   .....(i), t  = 20 s

0.04 = k [A]  .....(ii) t  = 30 s





∴  t  = 10 s

53. Ans ( 2 )
From a, b -





∴ 3  = 3  or  x = 1

From b,c -





∴  2  = 2  or  y = 1

and rate expression is - r = K[A][B]

54. Ans ( 4 )

 = 4 × 10  Ms 


 = 2 × 10  Ms

55. Ans ( 4 )

2NO ⇌ N O , k = ; [N O ]=k [NO] 


N O  + H  → N  + H O (slow)

r = k[H ] [N O ] = k[N ] × k [NO] 

r = k[N ] [NO] 

order = 3

56. Ans ( 3 )
ΔH = 

57. Ans ( 3 )
                  A(g) → B(g) + C(g)

t=0              100       0         0

t=10 min,    100–x   x          x

100 + x = 120

x = 20


k = 

58. Ans ( 3 )
rate    = atm sec  

   K     = (atm)  sec  

          = (atm)   sec  

          = atm   sec

59. Ans ( 4 )

RoR =    =  =    


 K  [A]  = K  [A]  =  K  [A] 


   = K  = 

60. Ans ( 3 )
Rate of reaction exponentially decreases with
time for first order 

65. Ans ( 2 )
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66. Ans ( 1 )
N (g), O (g), H (g)

2 mol,  3 mol  5 mol, P  = 3 atm


P  = x  P  =   × 3 = 1.5

67. Ans ( 4 )
(iii) = (i)/2 – (ii)

69. Ans ( 2 )

Unit of K  = 


                 = atm

71. Ans ( 3 )
2NH (g) ⇌ N (g) + 3H (g)


 = 1 + α


 = 1 + α


α = 41.66%

72. Ans ( 2 )




= 2 × 10 

Q  > K , backward

78. Ans ( 3 )

Strength of acid ∝ 

81. Ans ( 2 )



   = 1.35 × 10

82. Ans ( 1 )
HCOOH   +   KOH → HCOOK + H O

40 × 0.5        50 × 0.2      0            0

= 20 m mol    =10 m mol

10 m mol           0      10 m mol   excess


pH = pK  + log  


= 4 – log 1.8 + log 


= 3.75

SECTION-B

86. Ans ( 2 )
NH OH + NH Cl

0.05 M    0.001 M


pOH = pK  + log  


= 5 – log1.8 + log  


= 5 – log1.8 + log  


= 4.74 – 1.7

= 3.04

[OH] = 9 × 10

89. Ans ( 3 )
CN  is a conjugate base of HCN so for
conjugate acid-base pair

pK  + pK  = 14

pK  of HCN = 14 – pK  = 14 – 4.7 = 9.3
NaCN is a WASB type of salt


So 

92. Ans ( 2 )
2CO (g)  ⇌  2CO(g) + O (g)

2(1–0.6)          2 × 0.6    1 × .06

= 0.8                = 1.2         0.6

n  = 0.8 + 1.2 + 0.6 = 2.6 moles

93. Ans ( 3 )
At equilibrium all reactants and products are

present and 

96. Ans ( 1 )
r = k[A]°

r = k → It is independent of conc. but 

               k depends on temperature

100. Ans ( 4 )







5 × 2.303 × RT = ΔE 

28.5 kJ mol  = ΔE
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SUBJECT : BOTANY

SECTION-A

101. Ans ( 3 )
Module Pg. # 2

103. Ans ( 2 )
NCERT Pg.# 187, Fig. 11.8

104. Ans ( 4 )
NCERT XI, Pg.# 184

108. Ans ( 4 )
NCERT-XI, Pg # 178

111. Ans ( 2 )
NCERT (XI) Pg. # 197

114. Ans ( 2 )
NCERT-XI, Pg# 199, 2nd para

119. Ans ( 3 )
NCERT XI Pg. # 201, fig. 12.3

121. Ans ( 1 )
NCERT Page No. 241 [Hindi/Eng.]

123. Ans ( 4 )
NCERT XI, Pg. # 246, Ist para.

132. Ans ( 1 )
NCERT, Pg#252

134. Ans ( 4 )
NCERT Page No. # 252

SECTION-B

140. Ans ( 2 )
NCERT XI Pg. # (Eng) 197,198
NCERT-XI हिन्दी पेज -197, 198

143. Ans ( 1 )
NCERT XI Page # 203

144. Ans ( 2 )
NCERT-XI, Pg. # 243

SUBJECT : ZOOLOGY

SECTION-A

158. Ans ( 2 )
NCERT (XI) (H) Pg. # 288

159. Ans ( 3 )
NCERT Pg # 288

160. Ans ( 4 )
NCERT-XI [E], Pg # 288, Para.-4

NCERT-XI [H], Pg # 289, Para.-3

161. Ans ( 2 )
NCERT Pg. # 288

167. Ans ( 2 )
NCERT-XI, Pg. # 274, Para-2 (E)

NCERT-XI, Pg. # 275, Para-3 (H)

168. Ans ( 3 )
NCERT-XI, Pg. # 274, Para-2 (E)

169. Ans ( 1 )
NCERT Pg. # 268

170. Ans ( 2 )
NCERT Pg. # 273

171. Ans ( 1 )
NCERT XI Pg#273

172. Ans ( 3 )
NCERT XI(E) page 275

173. Ans ( 2 )
NCERT-XI , Pg# 274

175. Ans ( 3 )
NCERT XI, Pg.# 271

176. Ans ( 4 )
NCERT Pg. # 271,17.2.1

177. Ans ( 1
)
NCERT Pg. # 272,17.2.1

178. Ans ( 3 )
NCERT XI Pg # 274

179. Ans ( 4 )
NCERT XI ,  Pg.# 275

183. Ans ( 1 )
NCERT Pg. # 282,18.3

SECTION-B

186. Ans ( 3 )
NCERT XI Pg. No. # 274

188. Ans ( 1 )
NCERT XI, Pg. # No. 270

191. Ans ( 4 )
NCERT Pg No. # 281 (Para-1)
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